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Practice  Test
I. The ("‘L""_‘j method of the set {9(1 (x+) (x-2) (2 H)=0, X€ R}

Can be fﬁfrrs.m{ ol

2. The vange of the equation fx= 2x+3 & i_[) 2, 5,8y, the
domain TS { w}

. If Pax) = 3%*+|, then the equation of fix) i .

I Set A st Sabsty {1YUA={135), then St A=
The 3mfh of f=o*L3 must fPass the Fixed Pnfnf'f_ .

2 AL0

fog:—‘{sﬁ e then  f(P(2)=

o A=[,49), 5:("‘(0./“)/ if ACB, then the domain of ree]
Tumber o is

™ o N G

-

%

5. 0{,-'-'0\31) b=20'3/ C-‘—"[f'ja.32) [ist a, b, ¢ from the Jvm/ﬂu‘f e
the lugst

T U={1,2,34,5), AO(CLB)={1}, BN(CA )=¢s3
CuhIN(CuB)=§2Y) , then set 4 =

————

10. Fanct.'oh 3:—7(2-[-44)( vS &L&«Mj‘-a&o{ﬂ;[j YNCTERS :’?\77 on the
inh-ruaf E‘ ) 3] 5 H’t’h Tflf domain of Ttﬂ,/ mumbvra?.s

/1. Feo is an odd function, then F((3'+2)+-F(7§‘"§‘ =
2
12, The yarge of foy= ’Xz(i'lo (X ER) 75 .




13, Sufpm positive Erﬂi\'jer m .S’A'['Isf,‘es [Om-'< 25'2< lOrri,
then M= (52 = 0.3010).

[4. Y= is the line of Symmetry of F9=(2)* and 9o,
(ef I’ICX) = j (l--m)/ then h@ has the —Fol(o«;irﬁ Charistics.
() The ‘?ijfhj for ht.x) '3 the oriqin (2) hix) s even
(3) The minimum value for hix) 71570
(4) h 1s dfcreﬂjifj on the wteval (0, )
The Cfsrm‘f‘ S'(‘at:mfﬂ'f' rS (il in all ‘fhr(om'c-f'#s)
15. Set A= i—-l/ a’-ﬂ) a’-3} , B= {—4-) a-l,atl} , and Ang.—.-.{-;g_}
find the Yalue 6f Q.
(6. C : i ; A
omPu'f?. ) (2__;_:_)0_'_22,(2*) 2__[0'090.5

9 2% 1351 g 3.1y Loy
Hl. O’\)p are two Zeros of ﬂ:WZ—ZK’x-}é,ﬁ
(1) Find the equation of £(k)= (o —pﬂ-(ﬁ-!)i and find the domain
(2) Find the minimum yalue of £(K) ard Find K'S value when (k)
has o minimum vVelue,
8. Foo=oax*tbxtcy fmfméﬁ the solution of the ""f‘(““-/'y

Fx0>-2x s (1,3)
() I ftéa=o hs 2 equal rea] voots , $ind Hhe equation for

£x),
(IL) . Tf the maximum value of fix) & s ocposifive number, find

the range of oL




4. The value Y Ca[ollars) of & diamond and the Square of ity
u)eijh'l‘ x (in cam{'}) are Faiih'#fﬁ Care(a.'f‘io{ ) & 3 camj‘J
of the diamond r_s$5'4-/ooo.

(L) Write a function of 4 in® ferm of %,

(1) rf cut the dﬁnmd into 2 piece accardi:y to |13,
find the percentage of [oss.

(TL) If Cut the diwmond into 2. pieces, and the wi.yhf' of the
2 pieces are 'm Carats and 7 Carats S, prove. When_

m=n, fhre Pffcl'ﬂ'/'i!jf af [oss o5 1thy cirfd?ff_
(/a./ut"'" Pn-;m'/' t/ﬂ./uf’

(ot Peventage of [os= e Origin Ualug —xwok)

\D(-F deni defimtion_D
20, I-F function fx) Sa.hsf‘rcs . for any X 0D, There E)(.‘_S]L_s X Consﬁn‘f

M >0, ond |[f(X)|<M ex:.(f_s/ then £ o5 a (it function
of O, then M s the upper [imit of Pex).
K""mfj -an-f- Log= |+ 0(.(‘2!‘)7‘ ¥ (#)?f . 9lpe [—m-2%
S [+ m2%
(O When =i, £ind the range of $O) in the interva| of (—éo,0) ,

and Rif f £x) in the intrrrf (-v= ,0) 7S an wpper /rm;f
-Fund‘ion and exf[a.in ‘fﬁr reasort..

(2) I 3 78 the wpper [imit of £09) in the iteroal [0, +02),
£ind the domain 6f the vea| mumbsr a,

<3>I]a m>0, 'H?f uffer /:m:‘/‘ 0;3 goo in the ?nf?rm( EOJ [7 ¢3S
T(m) J £ ind Fom) the domain of T(m)
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ﬂliro{ j\gar Ma.‘H’] }a,;gerc;m ( H:;h‘Schoo{ )
l. Guen the top of PYOba/&C 'S the o@rn, it -ﬁs;vij s oon

X—axis, lme Y=x and the Pfo[aalta C u‘n‘l'»-rcep'f' at two

points A and B. If P(2,2) s the m.-a(Po:ni- of A B. then
the equation of Probela C tso—

2. In AABC, AB-BC=3, AABC'S Surfuce rea Sugc €[22 ]
rhmed-ukm AB and BC 1§ ) g
the range of the

3- SurPnSf Tht' fociLs o-F PrOBaja, jazle (p>0) Y F, PO"'ftf(QZ)

If line Sﬁmr'li"ﬁ mialpomf B s on the Proba,{ﬂ_/ then the distance
from B +to the dirctrix of the Probufa XS

Te——— W

4. Gien that the distance between the mag\a‘y pofa‘/‘ P and Ffixed Pm‘rrf (2,0)
ond e distance between P and Sfmyhf [ine [ . x=-2 are
@?M,{ , -wan Poim‘- P’J’ -efuah’on K

a&
the focus s 2C. From O as the center make a Cirele with

2 M
yadws e, If Th}\'ffeje'th [ines passing P(&,0) a:za( f/_»éc.-rc/( M
z *
are pvrpmd:cu[ar g hen the {-’Ccen'fn'Cijy of&'—;‘r--f- p = S

5. I, r‘rcf‘a»nj/r ,_E'jsfvm Aoy, g,‘ﬁDa&. :7(2,_‘_ Z:_-_l (a>6>9)

1T i 3 Th'f’ [i‘nr Share onl
(. Make o stmight line oassin ﬁl:;‘tjh 0,1). )
one commen Pjouf[' wimfaf;o a-la.. = 4X. ﬂl How ’Ma.nj Such
: T 9
7. LL_;::};.-ZZI- and -g:— - -—-U-l-—-:.; :nfvmeq(' at two Pomﬁ A and B,

Z AoB =90 (O s the ov\-‘ym_), The Sfope of'f‘hr afjmpﬁ(i 0

b J



H‘jh SCAOU( (3 year) Drercises
8. is b pont on the left curve of T~ ix =1
(a>0, b>0) . F,,F2 are thr (¢ft and thf foc: |

v
PE, « PF, =0, hné‘f)’:iﬁ:%‘) the eCfen'l'h'Cs'_fj

x4 2
Df‘ E - ;_ =] I3 -
C?. Given piecewise defined X2 o, Yzo
Y$=2x +2(2
YsKkatiz

the range D s e Completrly Covered by @ Circle with
radius | > ﬂ’lfn the rarnqe of the vea] mumper K (S — .
10. From the 'mwf?j Pom'f' P toward ,;’X_:i_‘_jz_.__{ make 2.
'f'ejenf‘ [:nes PA . Pi3. The Poin‘kj of ‘r"engenc;j are A B,
/. ApR=90°, the eTua'h‘on of thre moving P""”'I- p s
(1. The line Passes through the focus of Y= 4 mievsects
the Froba{a in 2 pomts A, B, Pasing B make o
perpendlicuar lime to the dirctrix L, the ot of’
fnfer.cec‘f‘ton 'S C. Given A(‘b 1), then /z'm' AC'S equation

LS __ .
2. 0 is the omgn fir =47, 4,8 o tuw 0]
Pomi‘s on the Proba.[a_ . OALOB, when fine AB™S
anj/t' 'S 45°, fhe Surface area of AAOB IS
(3, Gven A’=4y point F i3 the focus of The Praba./aj
'H"l' Po"'?"" Dye infersection DF the dirctrix and ﬂ"a"f s s M y
/\/ VS & PO"D'I' &f on the PTOMQ, ‘NF[:—%-—IMNL LA/M




14- Cémﬁ.)ar‘e " 9:&*:7‘-“ Th-( Sum an«ﬂ[ G{'ﬁf"-”lcf Of 'H'lf {‘“U
D‘F Sine and cosin ”} -Fov 'qu 23;,/@;1 -Punc‘h‘ons

'x__e"?f A =X
S)= € ond CP= € 21'6 g

WYI{? (28 Corrc.‘c'f‘ comrada:ﬁ'ma.( eczuaffon

|5. én ﬂwrf are :J..forn‘h A/ B on \(jz_—_- 4-’)(/ f)e::m"L
F ;s the focus of the ?Oraba(a,, O S the orig ™,
I f::a ‘!‘2_[-:;\ + 3?33::3 , then the Pom*/‘ of- Mfersection
Of [ine AB and oX—aoxis 1S
/6. F s the /\’101" Focus °1Q rgz - _E;iz_: ~ On +he
hjhf Sidt’ 0)0 F Df) 'H)(a XN—Ax Y, 'H’h.'fc’ £ GLPOFn'f‘ A‘/
Tht’ Pbmfj 0]c fﬂ'f?r..(fc:‘h’on O)Q ﬂ')f Cirele with Yool rus
EFA and the 2 curves (Qbove X—axis) are M, ,\//

The Ualue of | FN;—IFMI
FAl




